D0 RBP6Goe Dolezelova log2{mean expression level)

Day 0 RBP6 overexpresslon

Day 2 RBP6 overexpresslon

Day 3 RBP6 overexpresslon

o

=

o

=}

R? = 0.99891 o

D2 RBP6oe Dolezelova log2(mean expression level)

o

=

el

o

R%=0.998619

D3 RBP6oe Dolezelova log2{mean expression level)

o

o

o

o

R%=0.998181

D4 RBP6oe Dolezelova log2(mean expression level)

0 5 10 15
D0 RBP6oe Shi et al. 2018 log2{mean expression level)

Day 4 RBP6 overexpresslon

10 15

0 5
D2 RBP6oe Shi et al. 2018 log2{mean expression level)

Day 6 RBP6 overexpresslon

o

=

o

o

R?=0.997842

D& RBP6oe Dolezelova log2(mean expression level)

o

=)

o

=

R? =0.998112

0 5 10 15
D4 RBPBoe Shi et al. 2018 log2{mean expression level)

0 5 10 15
D6 RBPBoe Shi et al. 2018 log2{mean expression level)

0 5 10 15
D3 RBPBoe Shi et al. 2018 log2({mean expression level)



